2. Bez Wurzeln Losungen AB 3

1. Vereinfache so weit wie moglich!

a) Vz2=1z b) Va2=a
1\2 1 a\?> _a
9J() =3 9 () =5
e) Jix+y)i=x+y f) Jy@a—-132%2=a-1
g) Vv9b?2=3b h) 121y? =11y
i) /100x2y? =10xy j) V49a?b?c? = 7abc
k) Vx*=2x2 D) Vas=a3
2. Vereinfache so weit wie moglich!
a) Vxb=2x3 b) Jy®=y*
Q) Vet =¢° d) Vm?® = m°
3. Vereinfache so weit wie moglich!
a) Va*x? =a’*x b) V16r? =4r
c) V25t*ub = 5t%u8 d) V81b2¢8® = 9bhc*
4. Bestimme ohne Taschenrechner:
a) V2-V18=+2-2-9=2-3=6
b)V27-V3=v9-3-3=3:3=9
) V99:-V11=+9-11-11=3-11=33
d V32-V8=+4-8-8=2-8=16
e) 25:-V10= /25:25:4=25:2=5
f) 12,5-V50=,/12,5-12,5-4=12,5-2=25
g) V98:V5=,98-5=/49=7
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h) V48-v30=v48-30 =144 = 12
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